CTRL

1.6

1.4

1.2

0.8

0.6

0.4

0.2

Ontogenetic Rabbit Series

y = 0.668x0-777
Rz = 0.961

0.5

1.5
BCAL




oD

Ontogenetic Rabbit Series y = 1.156x064

R? =0.983

2.5

2
1.5

<,

1
0.5

O T T T T T

0 0.5 1 1.5 2 2.5

BCAL



RL

_ _ _ y = 1.809x:222
Ontogenetic Rabbit Series Rz = 0.987

e

0.5 1 1.5 2 2.5
BCAL




TSL

12

10

. . . y = 3.692x1.078
Ontogenetic Rabbit Series RZ = 0.990

0.5 1 1.5 2 2.5
BCAL




TSL

12

10

Ontogenetic Rabbit Series

y = 0.916x0:308
Rz = 0.978

* N

500

1000

BW

1500

2000

2500



CTRL

1.6

1.4

1.2

0.8

0.6

0.4

0.2

Phylogenetic Rabbit Series

y = 0.486x1-104
Rz = 0.960

0.5 1

1.5
BCAL

2.5




oD

2.5

1.5

0.5

Phylogenetic Rabbit Series

y = 0.929x1:041
Rz = 0.970

3

0.5 1

1.5
BCAL




RL

Phylogenetic Rabbit Series

y = 1.402x1-354
Rz = 0.96

N o

0.5 1

1.5 2
BCAL

2.5




TSL

12

10

Phylogenetic Rabbit Series

y = 3.301x1:220
R? = 0.989

0.5 1

1.5
BCAL




